Véaxjobridgen

Em-bridge 2022-03-09

Partavling, 11 bord, 22 par. Antal brickor: 24. Medel: 240.0.

Plac  Par Poéng % Namn MID Klubb
1 11 306.4 63.84  Tomas Gustavsson - Gabor Barath 607 916 Vaxjébridgen
2 14 286.7 59.73  Toni Sjo - Goran Fransson 82613 86583  Véaxjobridgen
3 17 282.6 58.87  Loucie Lindborg-Mansson - Bengt Bengtsson 61815 11264  Véaxjébridgen
4 16 272.2 56.71  Olle Rundqvist - Karl-Ingmar Carlsson 872 88108  Vaxjobridgen
5 19 252.7 52.65  Barbro Holm - Lars-Owe Holm 58713 58714  Véaxjobridgen
6 9 245.0 51.04  Lena Rappe - Ulla Bonnevier 39795 50426  Vaxjobridgen
7 7 243.2 50.68  Hillevi Liedberg - Margareta Fagerlind 78312 43600 Vaxjobridgen
8 6 242.2 50.45  Sven-Olof Johansson - Séren Martinsson 80051 53013  Véxjobridgen
9 13 237.8 49.54  Laila Linnér - Bo Blomgren 64903 43928  Vvaxjébridgen
10 10 236.7 49.32  Birgitta Thilander - Bertil Arvidsson 19779 605 Vaxjobridgen
11 15 235.9 49.14  Curt Stark - Irma Stark 86600 86601  Véaxjobridgen
12 1 235.7 49.11 Leif Thuresson - Kurt Felldin 1550 912 Vaxjébridgen
13 21 235.0 48.96  Bertil Jonsson - Berit Gyllensward 23254 33293  Vvaxjobridgen
14 3 2335 48.64  Cathrine Teandersson - Lars Einarsson 81930 33860 Véaxjobridgen
15 4 229.9 47.90  Ingrid Svensson - Par Carlsson 40035 40020  Vvaxjébridgen
16 20 226.6 47.21  Soren Borgstrdm - Annika Falkenstrom 45924 40025  Vvaxjobridgen
17 8 225.6 47.00  Sussie Karlsson - Christer Falck 81931 46707  Véaxjobridgen
18 2 224.1 46.70  Ewa Karlsson - Ulla Andersson 58710 58708  Vaxjobridgen
19 12 223.0 46.45  Birger Andersson - Ann-Christin Fjellborg 63099 33966  Vaxjobridgen
20 18 210.6 43.87 Magnus Fagerlind - Einar Liedberg 43599 35252  Véaxjobridgen
21 22 206.4 42.99  Jane Andersson - Kerstin Ekberg 58707 58787  Vaxjébridgen
22 5 188.2 39.21 Bengt-Uno Lilja - Karl-Erik Fransson 29550 47645  Ingelstad BK
1 «D10754 Bésta kontrakt 2 «KD10 Bésta kontrakt 3 & 842 Bésta kontrakt
Nord v E9652 2NT O =-120 Ost v KKn93 5NTOD-3500 |Syd v Kn852 34 SD-1-100
Ingen +53 NS + 106 ov + EKKn7
&5 & ¢ v & NT #D1093 & ¢ v & NT *97 & ¢ v & NT
« EKn92 4K63 N557605 4 E83 4972 N9 4 118 5 « D973 410 N48 4814
vDKn3 v74 S557 65 vE85 v2 S 9 4 118 5 vEKD106 v974 S 48484
+ K84 ¢+ E1076 0886 7 8 ¢ Kn8754 ¢ EKD932 0292438 +43 4 865 09 4957
#Kn64  #ED82 V78678 #Kn6 *742 V292438 *E6 #KDKn1042 V 9 4 9 5 7
48 4 Kn654 & EKKn65
v K108 vD10764 v3
¢ DKn92 .- + D1092
#K10973 #EK85 853
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 6 44 V-4 vA 200 200 00| 4 18 5v N= ¢A 650 150 50|21 20 34DV-3 ¢A 800 20.0 0.0
1 12 2v N= A 110 180 20| 7 13 4v N+1 +Q 650 150 50| 8 14 3v 0O-2 ¢+K 200 17.0 3.0
7 13 3NO-2 «3 100 150 50| 8 15 4v S+1 +8 650 150 50|22 6 4v V-2 ¢+K 200 17.0 3.0
8 15 34 V-2 &5 100 150 50| 9 17 5v S= ¢7 650 150 50| 2 13 3v N+1 ¢A 170 140 6.0
4 18 2NV-1 v6 50 9.0 11.0|10 19 4v S+1 ¢5 650 150 50|15 3 24S= vA 110 120 8.0
10 19 2¢ O-1 48 50 9.0 11.0|11 6 4y N+1 ¢+A 650 150 50| 4 17 3v V-1 ¢+A 100 8.0 12.0
14 2 3NO-1 2 50 9.0 11.0|14 2 5¢ O0-2 A 100 8.0 12.0| 9 16 3v V-1 8 100 8.0 12.0
20 5 3NV-1 a4 50 9.0 11.0| 1 12 4¢ O-1 *A 50 6.0 14.0|12 7 4v V-1 ¢+A 100 8.0 12.0
9 17 2NV = a4 -120 40 16.0| 3 16 3¢ O= SA -110 20 18.0| 5 19 24 S-1 vA -50 4.0 16.0
22 21 2NV +1 v2 -150 20 18.0|20 5 2¢ O+1 SA -110 2.0 18.0|10 18 34 S-2 vA -100 2.0 18.0
3 16 2N O +2 2 -180 0.0 20.0|22 21 2¢ O+1 *A -110 20 18.0| 1 11 3vyDV+1l +A -930 0.0 20.0
4 & KKn75 Bésta kontrakt 5 492 Bésta kontrakt 6 4 Kn863 Bésta kontrakt
Vast v 1097 24 N =110 Nord v EKD92 54 O D-3500 Ost v D104 44 S =420
Alla ¢ 94 NS +3 ov + ED96
#Kn863 & ¢ v & NT #Kn10976 & ¢ v & NT *ED & ¢ v & NT
s E4 « D82 N58587 4ED764 #KKn1083 N 118 115 7 + 105 « D92 N 8 8 8 109
v Kn43 v 8652 S58587 v83 vKn7 S 118 115 7 vKKn87 vE65 S 8 8 8 109
4108653 ¢ E 085746 +D982 ¢ E106 025183 ¢ KKn52 ¢ 843 O4 4 434
#EKD #109754 V85746 «D8 %543 V251283 #K93 10864 V45434
# 10963 a5 « EK74
v EKD v 10654 v 932
¢ KDKn72 ¢ KKn754 + 107
*2 #EK2 #Kn752
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 19 2¢ V-3 vT 300 19.0 10| 1 22 4vy N+2 43 680 190 10| 1 22 INN+3 «4 180 180 2.0
9 16 2¢ V-3 vT 300 19.0 10|11 7 4vy N+2 48 680 19.0 10|11 7 INN+3 vA 180 180 2.0
4 17 INO-2 ¢+K 200 150 50|16 4 4v N+1 ¢A 650 160 40|21 6 INN+3 49 180 180 2.0
10 18 INV-2 «8 200 150 50| 2 12 44 V-2 +3 100 120 80| 5 18 34 N+1 +8 170 13.0 7.0
15 3 1a N+1 ¢A 110 120 8.0|10 17 44 V-2 vA 100 120 80|16 4 34 N+1 ¢3 170 13.0 7.0
1 11 INV-1 vT 100 7.0 13.0|21 6 44 V-2 vA 100 120 80| 3 14 34 S= T 140 9.0 11.0
2 13 2v0-1 «2 100 7.0 13.0| 3 14 34 0-1 *A 50 7.0 13.0| 9 15 24 S+1 K 140 9.0 11.0
12 7 240-1 vA 100 70 13.0|13 8 34V-1 vQ 50 7.0 13.0| 2 12 INN+1 &4 120 40 16.0
21 20 INV-1 45 100 7.0 13.0| 5 18 Pass 20 18.0|13 8 INN+1 6 120 4.0 16.0
22 6 INV= 3 -90 2.0 18.0| 9 15 Pass 2.0 18.0|20 19 2NN= +3 120 4.0 16.0
8 14 2v O= *J -110 0.0 20.0|20 19 Pass 20 18.0|10 17 44 N-1 +8 -50 0.0 20.0
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7 454 Basta kontrakt 8 48 Basta kontrakt 9 484 Basta kontrakt
Syd v KKn92 24 V =-110 Vast v KD10982 3vy ND-1-100 Nord v 752 3NT N =400
Alla + KKn64 Ingen 4832 ov + D106
*K52 & ¢ v & NT *E84 & ¢ v & NT #ED852 & ¢ v & NT
4 K73 4DKn1062 N 7 5 8 5 6 4KD93 410754 N47 846 4E96 4 Kn72 N 108 9 9 9
v4 v D653 S75846 vEKn4  v65 S47846 v1096 vD843 S 108 9 9 9
+D9753 ¢ EI10 06 8586 ¢ KDKn7 ¢ 10 075585 ¢ EK985 ¢ Kn42 035433
#ED74 #Knl0 V68586 *K2 #DKn10653 V 7 5 5 8 5 #KKn *743 V35433
4E98 4 EKn62 4 KD1053
v E1087 v73 v EKKn
+82 ¢ E9654 73
#9863 *97 #1096
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 21 44 0-2 +8 200 180 20|10 16 2v N= ¢T 110 200 00| 6 19 INV-4 «8 400 190 1.0
3 13 44 0-2 +9 200 180 20|17 5 3¢ V-2 8 100 180 20|11 8 3¢ V-4 8 400 190 1.0
17 5 24 0-2 ¢8 200 180 20|12 8 4e V-1 vQ 50 140 60| 7 21 2¢ V-3 8 300 150 5.0
6 20 14 O-1 +8 100 130 70|14 9 3NV-1 vK 50 140 6.0|13 9 2¢ V-3 «4 300 150 5.0
14 9 34 0-1 +8 100 13.0 70|19 18 34 V-1 v8 50 140 6.0| 1 20 INN+3 v3 180 120 8.0
19 18 INV= v9 -90 10.0 10.0| 1 21 3v N-1 *T -50 9.0 11.0| 4 14 24 S+1 vT 140 10.0 10.0
4 15 24 O= 2 -110 8.0 120| 4 15 3v N-1 *T -50 9.0 11.0| 3 12 INV-1 ¢6 100 50 15.0
12 8 2NV= v2 -120 60 140| 2 11 320= v3 -110 6.0 140| 5 16 INV-1 «8 100 50 15.0
2 11 34 0= vA -140 20 18.0| 3 13 2NV= vT -120 40 16.0|15 10 2¢ V-1 8 100 50 15.0
10 16 24 O+1 o7 -140 20 18.0| 6 20 3NV= vK -400 20 18.0|18 17 2¢ V-1 «8 100 50 15.0
22 7 24 0+1 &9 -140 20 18.0|22 7 4e V= v9 -420 00 20.0| 2 22 INN-1 v3 -50 0.0 20.0
10 4 D986 Basta kontrakt 11 4K Basta kontrakt 12 4 KD7 Basta kontrakt
Ost v7 4v O =-620 Syd v EK842 44 V =-420 Vast v Kn95 4%V =-130
Alla ¢ Kn7542 Ingen + Kn64 NS + EDKN76
»K84 % ¢ v & NT 10852 & ¢ v & NT #54 & ¢ v & NT
« K53 & EKn2 N8 7 377 4 Knl1054 4 E9876 N55534 4E109842 o- N25554
vD9862 ¥vKKnl054 S 8 7 3 7 7 v 95 vKn763 S55534 vEG2 vKD10 S 25544
¢KD93 +6 O5 6 105 6 ¢ KD5 ¢+ E108 08 8 8 109 ¢85 ¢ K942 O 107 7 8 8
&5 10963 V 5 6 105 6 #EKKn4 &6 vV 8 8 8 109 *97 #EDKn1082 V 107 7 8 8
41074 4 D32 & Kn653
vE3 vD10 v 8743
+E108 49732 +103
#EDKnN72 #D973 #K63
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
11 8 44 S-= v2 130 200 0.0| 8 22 1v N= 46 80 200 00|14 10 3« V-1 +6 50 200 0.0
3 12 INS+1 v9 120 170 3.0|112 9 24 O+1 T -140 180 20| 4 13 34 0+1 T -130 18.0 20
6 19 INS+1 ¢9 120 170 30| 1 19 34 V+1 vA 170 11.0 9.0 2 21 44 0+1 ¢33 -150 140 6.0
1 20 INS= v2 90 120 80| 3 11 24 O0+2 T 170 11.0 9.0 5 15 34 0+2 T -150 140 6.0
7 21 INS= v2 90 120 80| 5 15 34 O+1 vQ -170  11.0 9.0(12 9 3#0+2 ¢33 -150 140 6.0
18 17 INS= v2 90 120 80| 7 20 24 O+2 vQ -170  11.0 9.0 7 20 2NO+3 T -210 10.0 10.0
2 22 3¢ N-1 v4 -100 8.0 12.0|14 10 34 O+1 vQ -170  11.0 90| 8 22 2¢ N-3 »2 -300 7.0 13.0
5 16 2v O+2 #A -170 50 15.0|17 16 24 O+2 vQ -170  11.0 9.0(17 16 3¢ N-3 vK -300 7.0 13.0
15 10 3v O+1 +A -170 50 15.0| 2 21 44 O= vT -420 20 18.0| 1 19 3NO+1 T -430 3.0 17.0
13 9 24 N-2 vK -200 20 18.0| 4 13 44 O= 3 -420 20 18.0|18 6 3NO+1 T -430 3.0 17.0
4 14 4y V= 46 -620 0.0 20018 6 44 O= vQ -420 20 18.0| 3 11 3NO+2 v3 -460 0.0 20.0
13 » EK4 Basta kontrakt 14 + Kn109 Basta kontrakt 15 «ED9 Basta kontrakt
Nord v EKn108 6¢ N =1370 Ost v Kn108 3v O =-140 Syd v EDKn3 3v S =140
Alla ¢ E42 Ingen + D9754 NS + D83
#1043 & ¢ v & NT *KD & ¢ v & NT #E105 & ¢ v & NT
49872 D10 N 6 129 107 4 KD87 4654 N65455 #K10843 4 Kn65 N8 6 9 6 8
v75 v D9642 S 6 129 107 vK3 v D9654 S65456 v 104 v 96 S86 9 6 8
+8 ¢ 973 071411 ¢ K8 ¢ E1063 077987 ¢ K952 ¢ E1064 057 474
#EK8752 #DKn6 V71411 #E9762 #4 V77987 »87 #KD93 V57474
& Kn653 4E32 a72
vK3 vE72 v K8752
¢ KDKn1065 ¢ Kn2 ¢ Kn7
&9 #Kn10853 #Kn642
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 22 3NN+4 v2 720 180 20| 8 21 2NV-3 ¢4 150 19.0 10| 7 18 4v N= K 620 19.0 1.0
8 21 3NN+4 v4 720 180 20|16 15 3NO-3 &5 150 190 10| 9 22 4v N= 3 620 190 1.0
19 7 3NN+4 v2 720 180 20| 4 12 2NV-1 *7 50 150 50|10 12 2v N+2 «Q 170 16.0 4.0
2 20 3NN+3 v2 690 13.0 7.0|13 10 INO-1 3 50 150 50| 4 11 3vN= 45 140 13.0 7.0
4 12 3NN+3 v2 690 130 70|19 7 INO= &8 90 120 80| 6 16 2v N+1 K 140 13.0 7.0
13 10 3NN +2 ¢+9 660 10.0 10.0| 2 20 1a V+2 ¢+4 -140 70 13.0|20 8 1v N= +6 80 10.0 10.0
16 15 3NN+1 «J 630 80 12.0| 3 22 24 V+1 *K -140 70 13.0|15 14 24 V-1 vA 50 8.0 12.0
9 11 INN-1 *Q -100 6.0 140| 5 14 2v V+1 *K -140 70 13.0| 3 21 4v N-1 45 -100 4.0 16.0
5 14 3NN-2 *Q -200 20 18.0|18 1 24 V+1l vJ -140 70 13.0| 5 13 4vS-1 *8 -100 4.0 16.0
6 17 3NN-2 *Q -200 20 18.0| 6 17 2NV +1 *7 -150 20 18.0(17 1 4y N-1 a5 -100 4.0 16.0
18 1 3NN-2 *Q -200 20 180| 9 11 2v V+2 *K -170 0.0 20019 2 4y N-2 *A -200 0.0 20.0
16 483 Bésta kontrakt 17 «D3 Bésta kontrakt 18 48754 Bésta kontrakt
Vast v K10742 34 V =-140 Nord v 9763 5¢ O =-450 Ost v KKn72 34 O =-140
ov + Kn72 Ingen + Kn54 NS 452
#E85 & ¢ v o NT #ED108 & ¢ v & NT *642 & ¢ v o NT
4 KD942 4Knl106 N57 745 « EKn1087 &K4 N3 2323 « EKKn10 D962 N8 4844
vED85 v63 S57 745 v8 v EKKn10 S$32323 v D105 vE8 S 84844
+D ¢ K983 0866 97 ¢ 10763 ¢ EK82 O 9 109 1110 ¢D1076 ¢ KKn98 059498
#KKn4  #D972 V866297 *K65 #Kn72 VvV 10119 1110 #93 *K75 V59486
«E75 4 9652 43
v Kn9 v D542 v 9643
¢ E10654 + D9 ¢ E43
#1063 #943 #EDKn108
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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3 21 44 V-1 v2 100 200 0.0(20 3 3NO-3 v2 150 200 0.0(10 11 44 O-2 v6 100 19.0 1.0
9 22 1a V+1 v7 -110 170 30| 5 12 3NV-2 8 100 180 20|14 13 44 V-2 ¢5 100 19.0 1.0
15 14 24 V= 48 -110 170 30|16 1 3NO-1 9 50 140 6.0| 5 12 34 V-1 »6 50 130 7.0
5 13 24 V+1 *5 -140 11.0 90|18 2 3NO-1 v4 50 140 6.0 7 17 44 O-1 v4 50 13.0 7.0
7 18 24 V+1 2 -140 11.0 90|21 9 2NO-1 3 50 140 6.0 8 19 34 0O-1 *A 50 13.0 7.0
17 1 3a V= v7 -140 11.0 90| 4 22 INO+3 +9 -180 10.0 100(16 1 4a4 V-1 *2 50 130 7.0
19 2 24 V+1 vT -140 11.0 90| 8 19 2NO+3 a2 -210 8.0 12018 2 3¢ O+1 43 -130 8.0 12.0
10 12 34 V+1 *7 -170 6.0 140| 6 15 3NO= *9 -400 50 15.0| 4 22 24 O+1 *A -140 5.0 15.0
4 11 44 V= *A -620 20 18.0|14 13 3NO= a2 -400 50 15.0| 6 15 34 O= v9 -140 5.0 15.0
6 16 44 V= *A -620 20 18.0| 7 17 4e V= *A -420 10 19.0(21 9 34 0O+1 SA -170 2.0 18.0
20 8 4e V= v7 -620 2.0 18.0|10 11 4e V= v9 -420 10 19.0{20 3 4e V= v7 -420 0.0 20.0
19 41074 Basta kontrakt 20 4 KD9 Basta kontrakt 21 & KKn32 Basta kontrakt
Syd v Kn1087652 5NTV =-660 Vast v D432 4¢ V D -2 500 Nord v10 3NT V =-400
oV ¢+ E10 Alla ¢ E32 NS + 862
#Kn % ¢ v & NT »E84 & ¢ v & NT #EDKn95 & ¢ v & NT
«Kn8 « KD6 N2 2752 » EKn82 » 106 N9 37809 «ED108 + 95 N5 486 4
vK vE4 S22752 v8 vEKKNn105 S 9 3 7 8 9 v 84 v EKn75 S5486 4
¢ Kn832 ¢+ KD96 O 11106 7 11 ¢+ D108765 ¢ Kn94 048654 ¢ EKDKNn10 ¢ 954 079578
#K109864 #E732 V 11106 7 11 «109 £532 V48¢654 *K8 210732 V89579
& E9532 #7543 4764
v D93 v 976 v KD9632
¢ 754 + K *73
+D5 #KDKn76 *64
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 20 2v N= ¢+6 110 200 00| 7 16 3NN= vA 600 190 10|22 5 3NV-1 *9 50 20.0 0.0
13 12 3vy N-1 +Q 50 17.0 3.0| 8 18 3NN= vT 600 190 10|18 3 2¢ V= vT 90 18.0 2.0
17 2 4vy N-1 *A 50 17.0 3.0|21 4 4¢ V-2 K 200 160 4.0| 6 13 3¢ V= vT -110 140 6.0
1 15 3vyDN-1 +¢K -100 140 6.0(17 2 2NN+2 vA 180 13.0 7.0( 9 19 1le V+2 vT -110 140 6.0
8 18 4y N-3 *A -150 11.0 9.0(19 3 2NN+2 +4 180 130 7.0|20 4 3¢ V= vT -110 140 6.0
21 4 4¢ O+1 vQ -150 11.0 9.0 9 20 2NN+1 vA 150 9.0 11.0| 2 16 3¢ V+1 vT -130 9.0 11.0
6 14 5eV-= ¢ A -600 6.0 14.0|13 12 2NN +1 vA 150 9.0 11.0|10 21 3¢ V+1 vT -130 9.0 11.0
19 3 5¢ O= s A -600 6.0 140| 1 15 34 S= v8 140 6.0 14.0|12 11 3¢ V+2 *A -150 6.0 14.0
22 10 5¢ O= LY. -600 6.0 14.0| 5 11 2NN= +3 120 3.0 17.0| 7 15 24 N-2 +9 -200 4.0 16.0
5 11 3NO+2 43 -660 10 19.0| 6 14 2NN= vA 120 3.0 17.0| 1 14 3NDN-3 49 -800 1.0 19.0
7 16 3NO+2 a2 -660 1.0 19.0|22 10 2¢ V+2 v2 -130 0.0 20.0| 8 17 44DN-3 +¢9 -800 1.0 19.0
22 # 10952 Basta kontrakt 23 « KDKn9543 Basta kontrakt 24 «E743 Basta kontrakt
Ost v D6 2v S =110 Syd v- 4v V =-620 Vast v Kn7 5v V =-450
ov + ED64 Alla 743 Ingen 41032
#DKn10 & ¢ v & NT #Kn96 & ¢ v & NT #Kn875 & ¢ v & NT
«EDKn4 4873 N7 8877 +E10762 8 N55 365 «D + 108652 N53 254
vKn74  vK95 S77877 v2 vEKKn10843S 6 5 3 6 5 vEK52 v D864 S53254
+Kn73  #K102 06 5565 ¢ED65  ¢109 O7 7 106 8 ¢ KKn95 ¢ ED7 O 7 10118 9
#983 #7654 V655675 «D53 *E82 vV 7 7 106 8 #D1043 &K V 7 10118 9
K6 .- « KKn9
v E10832 v D9765 v 1093
4985 + KKn82 + 864
*EK2 *K1074 *E962
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 14 INS+2 4Q 150 190 10| 6 12 3NO-3 +4 300 200 00| 6 12 3v V= *T -140 20.0 0.0
7 15 INS+2 aJ 150 190 10| 2 15 6v O-2 ¢+2 200 180 20|10 20 2NV +1 *T -150 18.0 20
20 4 2v S+l &4 140 160 4.0(10 20 4v O-1 +4 100 140 6.0 3 17 3v O+1 SA -170 140 6.0
6 13 INS+1 +3 120 140 6.0(19 4 4v0O-1 +2 100 140 6.0| 7 14 2v V+2 *5 -170 140 6.0
2 16 2NS-1 *9 -50 7.0 13.0|21 5 3NV-1 «6 100 140 6.0(11 22 2v V+2 »7 -170 140 6.0
9 19 3NS-1 s -50 7.0 13.0|11 22 3v O= v5 -140 10.0 100(13 1 3NV= *5 -400 10.0 10.0
10 21 INS-1 *9 -50 7.0 13.0| 3 17 4v O= 2 -620 6.0 14.0| 2 15 4v O= *A -420 7.0 13.0
12 11 2¢ N-1 43 -50 70 13.0| 7 14 4v O= *7 -620 6.0 14.0|21 5 4v V= *7 -420 7.0 13.0
18 3 2NN-1 2 -50 7.0 13.0| 9 18 4v O= +J -620 6.0 14.0|19 4 3NV+1 *5 -430 4.0 16.0
22 5 2vS-1 *9 -50 7.0 13.0| 8 16 4v O+1 2 -650 1.0 190 8 16 4v O+1 *A -450 1.0 19.0
8 17 3NN-2 48 -100 0.0 200|113 1 4v O+l 2 -650 1.0 19.0( 9 18 4v V+1 a7 -450 1.0 19.0
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